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Question ID : 264330105026
Status : Answered
Chosen Option : 3
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Question ID : 26433068195
Status : Answered
Chosen Option : 2




Q.3 & A G el B U § WER 9gu W Fafiiad #§ & S 91 gHieo |98 g
79U 3

Ans X 1.3+1-7x2+4=8
K 2.3x2+7-6+3=18
K 3.3+7x4-6+2=20
& 4.7+3x2-4+1=13

Question ID : 264330105101
Status : Answered
Chosen Option : 4

Q4 fapeul & A 39 T $T 994 DI o & 15 wemnsit & & adt Wy 8, Wi day
R e ¢ gq=al Y Sensi SR
(e MU wemna uR ®Is off withar 39F yew Siwl ¥ faunfora farg fam, gof Temait
WE B )
(12, 51, 5)
(8,30, 2)

Ans X 1.(14, 120, 16)
& 2. (11,51, 6)
X 3.(19, 44, 3)
X 4.(13,10,7)

Question ID : 26433069239
Status : Not Answered
Chosen Option : --
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Question ID : 26433085386
Status : Answered
Chosen Option : 1

Q.6

Ans

39 BT Ig B R FBIme 3y # S veR Taft § o ver frafataa
S et 3 v ¥

(Fite: TEmsil Bt ITF gew iwl & fyurira fary famm, gof semsit w nfordg wfean #t

ST TR | ITeRVT & T 13 - Ky Afrant SR % SisAIge AN ST 3fe 13

# fopar ST Far 21 13 B 1 3R 3 H fauTira w3 iR e 1 iR 3 W nfdrdta dfpamg

FXA P AR TE 71)

(52, 10, 41)
(46, 18, 50)

X 1.(23, 18, 40)
X 2.(41,17,36)
X 3.(19, 33, 69)
o 4. (68,26, 73)

Question ID : 26433074780
Status : Not Answered
Chosen Option : --




Q7 R oy T vy & $© Y R I 91 39 YA W uTRa $© e fou e §1 faw
T YT B e A, YA & ST JrH=IE: FId Tt A firsar g1 i e ue ofik R
fruifea =% i F19 § e, T T FY4=1 &1 aifde T F FERu Hd 81
DY
Laft N, K 1
.| K, PEI
e

o,
Ans X 1. paq sy || SFTERUI BReT &
o 2. D18 N Fhe SR I8 aar §
% 3. Pact B | SERUI a1 §
2 4. 1TUT 11 GF FIh Y SFERUT v §

Question ID : 264330104919
Status : Not Answered
Chosen Option : --

Q.8 U Ty aHierr H TgRera $3 & T 5 31 wemeit ok fr ot gl ) e sgaan
ﬂ;nzzx3o+1s-5=159
Ans X 1.30,18 3R -, x
X 22,309+, x
X 3.189,30 3R +, +
o 4.18,30 3R+, -

Question ID : 26433085360
Status : Not Answered
Chosen Option : --
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Ans

Question ID : 26433057524

Status : Answered

Chosen Option : 3

Q.10 3irft qufarar vu & fRUfY F amyR W, Fafif@e & @ &9 ser-ag feht = it v
ﬁwm%ﬁwm%ma&nwmmﬁ
Ans X 1.QKJH

« 2. OIGE
2 3. WQPN
X 4.sMLJ

Question ID : 26433065663

Status : Answered

Chosen Option : 1

Q.11 ue fAf¥d e YT § ‘TRIGONOMETRY’ %1 ‘YRTEMOTRIGON’ & =7 #,
‘ACCELERATION’ %! ‘NOITARACCELE’ & U ¥ ferar wirar 81 33t yrar &
‘APPRECIATION’ & frd U forar simemm?

Ans X 1. NOITAIAPRPEC
/< 2. NOITIAAPPREC
#< 3. NOITAIPAPREC
«” 4. NOITAIAPPREC

Question ID : 26433068239

Status : Answered

Chosen Option : 4




Q.12 T& A e W #, "LUNGS' ) 'oxQJVv' foraT SiTar € 3R "POWER' &1 'SRzHU* Rt
7T 8, ST YT H 'ELOQUENT' @ &9 fera smam?

Ans ¢ 1. HORTXHQW
& 2. FMPPRHQW
< 3. HoQsxHQW
< 4. FMPRVFOU

Question ID : 26433067763
Status : Answered
Chosen Option : 3

Q13 A@BHT ISR A BF TG
A&BHTIAYE A, BPTUE &'
A#BHTAA A BIITAN I
AABHIIYE A BB I
A+B®HT IR A BHTRETR
TAH@V@U#WS&EEAX#Z&RA S, o Fufeafaa & @ #1991 o= 96t 78 82

Ans X 1. W, USTURRI
& 2.7, SHAAEI
X 3.U H3ISETRI
X 4EZHINE

Question ID : 26433067584
Status : Answered
Chosen Option : 2

Q.14 I Y BT TG S RraH B oy § I yoR afid § O vor fafafad
Tl I WIS | T& i 2
(Fite: T3t B ITF gew 3wl | fqurima fry famm, gof wemait v nfvrdg wfeang #t
ST TR | IeTeR0T & T 13 - Kty Aferant S % SisAIae AN ST 3dfe 13
T fpar oI Jpar 21 13 B 1 3R 3 W fauriora w1 3R fihe 1 3R 3 W nifordiy Aftramg
A BT Al T 1)

(4,9, 16)
(25, 36, 49)

Ans 7 1. (49,64, 81)
X 2.(36, 81, 49)
X 3.(49, 36, 81)
X 4.(1,16, 49)

Question ID : 26433082766
Status : Answered
Chosen Option : 1

Q.15 oy T FfieRuT & -9 31 gl & WM WRER ged 37 A TiiaRor Wit 8 wem?
108 +2* 10 + 70 — 10 = 480

Ans .y 1+ 3R -
X 2.+ 3R -
X 3.+3R*
X 4.+ 3R+

Question ID : 26433068475
Status : Not Answered
Chosen Option : --




Q.16 I fAFHe &1 I ¥ ol Ui SH&R-TUE A WM THR Tafid § R Yo gavT 3er-
TE U SER-TYE A Tl § 3R dIT SieR-Tgg TR SeR-UTg W Weiftd 21
BASE : EASB :: MINE : EINM :: CALM : ?

Ans X 1.AMLC
& 2. MACL
< 3. AMCL
« 4. MALC

Question ID : 26433068514
Status : Answered
Chosen Option : 4

Q.17 T 3gspH far T 8, Foraw | e ug g 21 2 e fawenl # 9 95 9t fawew gfg, st
3P H B R BRI
ABNC, HGWN, OLFY, VQOJ, ?

Ans 7 1.CVXU
& 2. TDMR
< 3.CMRQ
/< 4.CNTD

Question ID : 264330104832
Status : Answered
Chosen Option : 1

Q.18 %v.ﬁwqémmaﬁ,vhiﬂﬁwﬁwﬂmm%ﬁmwmmuﬁw
Haiftra ?1

(rsgt Y Srfyut SRS =Ieel & U o 1A ST 1T SR 58 Weg F S1eRl B "E/
O BT UWAT / TRY BT TWAT F ATYR UR TP gAY T Yde g1 fpdl ST 91T )
geft : QT :: WRI : ?

Ans X 1. fiorr
< 2. st
X 3.7ig
4. f9@

Question ID : 26433056811
Status : Answered
Chosen Option : 4

Q.19 {9 Py & 91 A fept |, 11 3R 11 3T T €1 $y=T &1 T A ge, v & 3 9
¥q  id 9t § firg vdia 819 8, Aruffea «3 fr Fa-ar@ feed syt o1 aifbe =

ﬁmm%mﬁ%

mﬂvhﬁﬁ %l
vgqan
LUIRNGE ]
e
1. it gar arg ¥
i1, |eft arg MR €1
IIl. TS 919 3R §
Ans X 1. Tt s SERU ARA B
X 2. Had B | 3TR 11 SFERU B B
3. Pad By | 3R 111 S8R0 B B

X 4. Had B 1| 3R 111 STERUT AR § |

Question ID : 26433068642
Status : Not Answered
Chosen Option : --




Q.20 e &y 1 TR sw-e Rfat guis g €, T © e was! 1 S | ¥ 6 0 | 9F S0 w9
o o 2 Z=TH TR B & Ui 9 b 0 g

WISy

Ans 1.3
< 2.6
X 3.5
X 4.4

Question ID : 26433078866
Status : Answered
Chosen Option : 1

Q.21 TEmait & fauy Hg &1 999 Y1 (W 3: B3 $1 I96 Wued il # faurim feg
fam, qof et uR wfdart frenfea &t sl @ifde ) Iarevor "13 - 13 W wfpart S
o 13 ® STSI/=aeHIATON AT i faram &1 Wehar g1 13 &Y 1 3R 3 & dis-T 3R 3R

fiFT 1 3R 3 WR T wfpaTd <A F srgafa TE @)
Ans 7 1.(300-30-7)
% 2. (500 - 50 — 5)
2 3. (1000 — 100 — 10)
X 4. (400 — 40 — 4)

Question ID : 264330105082
Status : Answered
Chosen Option : 1

Q22 GRA-BHI IS S TP A BHTUER A+BHT ISP A BB a5, A:BPTd R
g, B &1 fan 8, Y Fufufaa & @ #19 w1 sivie a5 =g svar 8, f% p, R &1 argwr
.

Ans X 1.P+Q-R
X 2P+Q+R
¢ 3.P-Q+R
X 4.P-Q+R

Question ID : 264330105002
Status : Not Answered
Chosen Option : --




Q.23 T faemeg ool o1 70 BT R &1 778 e (x) T HIT  FY F U1 §3 © (T o AR @
IHRI A )

Ans

ELk

Question ID : 26433068911
Status : Answered
Chosen Option : 1

Q.24 AU 7Y Ireq) Bt ST GBI F SR HIRIT HIA B UYT, B AT 2eg WY I
TR MM

1. Telescope
2. Telephone
3. Telegram
4. Telecast
5. Telepath

Ans 7 1. Telepath
X 2. Telephone
< 3. Telecast
< 4. Telegram

Question ID : 264330104894
Status : Answered
Chosen Option : 1

Q.25 Fafafad & Q919 91 3eR-Tgg &t TS J@dr § g (?) & R W SMEm?
LAFI, MCGL, 2, OGIR, PIJU

Ans X 1.NEIO
X 2.NFHO
« 3.NEHO
X 4.NFIO

Question ID : 26433059858
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1 IUHIFTSN GRT AT FTHS TSTHT & 997 P G P A9 FIT H5d 872
Ans 1. fgdige Saesmar

X 2. qdigs Idredhdl

X 3. Ui Idmadhdr

X 4. IS SAGHA

Question ID : 26433064763
Status : Answered
Chosen Option : 2

Q.2 UE.3AE.UE. (FIH) Aiee S8R gia! fay U 2015 Fet maifora fomar war 412
Ans X 1. UfTH, Uids

7 2. afe, S

3. Tz, siffeean

o« 4. fomafonT, st

Question ID : 26433059404
Status : Not Answered
Chosen Option : --

Q.3 3ETRM T ¥ YR 919 9T $1H-91 Togy 99T $ g | geraw gar 82
Ans X 1. Of}F

o 2. T3S

X 3. mfeus

X 4. AR

Question ID : 26433087861
Status : Answered
Chosen Option : 1

Q.4 YRR TfIU & rgede 30 H 6 SRISIH! #1 3w 32
Ans ¢1.'J4Tqﬁ3ﬁTﬂTﬁ$

X 2. Giepiaes iR WS

X 3. ufitfes, IRpiad 3R HToTS

X 4. uififer 3R TRplas

Question ID : 26433086669
Status : Answered
Chosen Option : 3

Q.5 IS I & A Farsy, R Yy guR e 9T 917
Ans X 1. TERIY 3R Affiearg

2. U SIS SR R

X 3. S U 3R fogr

X 4. PHled 3R T Sa

Question ID : 26433065445
Status : Not Answered
Chosen Option : --




Q.6 3T 2022 IF U AHPRY F AR, Frafiaf@a Titaer # @ fF ura 3@ =& frar

8?2
Ans X 1. Tal HIRER
o 2. TR g8
X 3. fofereame @m
X 4.3fA ¥R

Question ID : 26433064785
Status : Answered
Chosen Option : 2

Q7 fi® P RAePR T 98Ts & S & Ry 31t ulrs A1

Ans X 1. TN 3R B
2. TS R =S
X 3. P AR =i
2 4.9 SR

Question ID : 264330105445
Status : Not Answered
Chosen Option : --

Qs TG T 3R THAT T & T R R 71

Ans X' 1. qETS
X 2. FFR
« 3. 2RI
X 4. 3T

Question ID : 264330105601
Status : Answered
Chosen Option : 3

Q9 fafafed # & $H-U9T WER & YoivTd g o1 9 T8l 372
Ans X 1. TRIRI & SRR R o

2. S YT

X 3. U & R W g
X 4. 49T & SRR R Y

Question ID : 26433082158
Status : Not Answered
Chosen Option : --

Q.10 33} Jearyg & Siaiia & | H19 Wt Serarg urs W 82

Ans X 1. 3% HeTgdg
X 2. o SUIwrB s
X 3. 3=nfH
o 453

Question ID : 26433086618
Status : Answered
Chosen Option : 4




Q.11 2011 P} FTRIVAT S AR YR P 5 ToT F} WERT X T4 $9 82
Ans X 1. Tefga

« 2. TS8R

X 3. foeikm

X 4. WU

Question ID : 264330105533
Status : Answered
Chosen Option : 2

Q.12 Fad Id-TA ARG aUT IHPT W, wE & et qure & g FAfifa s

Ans X 1. TRgdl
X 2. degdt
« 3. SRgdl
X 4 Redt

Question ID : 264330105426
Status : Answered
Chosen Option : 2

Q.13 IS & ufed 7EA & fEd faq SY-a1 R A= Sirar 82
Ans X 1.3a-39 96

X 2. TR

X 3. Threg-3-dl!

4. 35-3a-PaR

Question ID : 26433074085
Status : Answered
Chosen Option : 3

Q.14 Joamss Frafafea & 3 fra ot & Tl 32
Ans X 1. U

X 2.wdw

X 3. Wy

4. SHTR

Question ID : 26433066641
Status : Not Answered
Chosen Option : --

Q.15 Al & & $19 91 L-F¢ TR T $A 9T 30 $T Ugan e a7 71 32
Ans x 1. HGRTY

X 2. 3ffgr e

3. TR

X 4. FCD

Question ID : 264330105276
Status : Not Answered
Chosen Option : --




Q16 EWF AMURAATIAN A F-mard i
Ans X 1. Qe

X 2.

X 3. g

o 4. FCD

Question ID : 264330105174
Status : Answered
Chosen Option : 4

Q.17 f5a YR T Aeft ¥ vora FareR gR1 Al yfrere 1 frafe fear s g, /v
THTETH HEd 82

Ans 1 WRdATEH
X 2. 9YD
X 3. plget
X 4. Afg-fterga

Question ID : 26433054315
Status : Not Answered
Chosen Option : --

Q.18 fre Qarayf & ufraRaT ara fem $) 71 S8 o 272
Ans X 1. dE@ie!

& 2. TapaTlT

X 3.

X 4.8

Question ID : 26433071383
Status : Not Answered
Chosen Option : --

Q.19 YR AT Bt T=T A 82
Ans 1. IR-TR

X 2. qERE

X 3. uE-sRE

X 4. dH-wRE

Question ID : 26433064846
Status : Not Answered
Chosen Option : --

Q.20 &gﬁwmmm%ﬁﬁmﬁug@@%mﬂqﬁﬁmﬁwﬂ
?

Ans X 1. T@dd gI09Hg
X 2. TAR gUagg
3. 3SHF 3R FAelER guagg
X 4. T gioeg

Question ID : 264330105631
Status : Not Answered
Chosen Option : --




Q.21 R F gour e e 32
Ans X 1.38
& 2.39
X 3.37
X 4.40

Question ID : 26433086604
Status : Not Answered
Chosen Option : --

Q.22 F@TS 2022 ¥ BIEATRTH TR b B & 3rehef & 9 § e UgHR T @ 2
Ans X 1. 3l wifean

X 2. mew aAt
X 3. WSla PR
o 4.3 I FAR

Question ID : 264330105338
Status : Not Answered
Chosen Option : --

Q.23 qﬁzozzﬁumﬁuﬂmﬁﬁuwaﬁ?ﬁwmmﬁmﬂw%awa%wﬁﬁmﬁww
THTeT?

Ans X 1. Jolld gr=aTd
X 2. ity arsf
« 3. ARy Uit
< 4. 3SR I qTUSY

Question ID : 264330105337
Status : Not Answered
Chosen Option : --

Q.24 2016 T IFT JTGRI TR /T UTasmat H1 A2
Ans X 1. TR

2. IR0 S=UTS

2 3. 3R QYHIHAT

X 4. ST

Question ID : 26433082149
Status : Not Answered
Chosen Option : --

Q25 fgplaaaarRa®__ ® wuifa fosar war am
Ans 11791

< 2.1781

X 3.1771

< 4. 1801

Question ID : 264330105576
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude




R Tan ATan B +—"" __ 1% Trx=2

cosAcosB
Ans X 1.B
« 2.A+B
X 3.A
K 4A-B

Question ID : 26433061625
Status : Answered
Chosen Option : 2

Q.2 3 & 7€ aireT 6 Hulra & S HA aral ARSI P H= B it 21

FoaAT | HEEE
P 150
Q 250
R 350
S 100
dk 200
U 550
Q # BTH B a1d TSR FT T=AT BT, R T BT A a1 ARGl $ W2 §
3T T 872
Ans X 1.7:5
X 26:7
&3.5:7
X 4.7:4

Question ID : 264330105733
Status : Answered
Chosen Option : 3

Q.3 TP SR TP Tdbe W 45% P Fe IdT1 81 I8 Thg Y R Rt Fud iR 25% &)
3R Fe U FXaT 21 Gl Fel BT a1 IS & 1Y U6 1 22,800 F Tde & g 7wg
T fpa=T YT FHRA1 ghI?
Ans X 1.%1,350
2 2.31,230
 3.31,155

X 4.%1,480

Question ID : 26433076079
Status : Answered
Chosen Option : 3

Q4 gfa:b=4:53MRb:c=3:10,dla:c |
Ans X 1.5:3

K 2.25:6

K'3.4:10

& 4.6:25

Question ID : 26433073016
Status : Answered
Chosen Option : 4




Q.5 &l APRQ & AB, QR & THMTAR Wit 7 8, S Yoirai &Y A 3R B W el 7, W81 PQ
P WATE = 6cm, QR P TS = 8cm 3T QA P TS = 3cm &1 AB T GaTS fhal 82

Ans X 1.42cm
o 2.40cm
X 3.24cm
2 4.50cm
Question ID : 26433075361
Status : Answered
Chosen Option : 2
ae sin 63°+5in" 27" o oy AT AT
cos2 17%+co0s2 73°
Ans X 1.3
X 22
o 3.1
X 4.0
Question ID : 26433071282
Status : Answered
Chosen Option : 3
Q.7

Ans

afE xy3, Py 3R By* T AgTH GEGTSSH (HCF), xy & af IaAehr

AYIH FATET (LCM) gl

x 1. xty?
&2 xyt
X x3y?

X4 xtyd

Question ID : 26433080085
Status : Not Answered
Chosen Option : --

Q.8 A 3R B TS HTH B HU: 13 3 17 &7 & [T % THd 1 A BTH FIT I T 8, AR

Ans

3 TH-aH A UP-UF o7 Y B B & | Hul 1 fope foT § @y 8

vi14s fea
. 11
< 2. 17; %?r
. 11
K11 =

) 17
X417 ItG

Question ID : 26433076281
Status : Answered
Chosen Option : 1




O CrrfatEa sty # AR 1) m, A a 3K b gERT R Foi B AT 7T B

Al Am
RS

A x 1. a=60°3R b= 120°
55° 3T b = 125°

X2 d
v3a=70° 3R b=110°
X4 a=90° 3R b=90°

Question ID : 26433081617
Status : Answered
Chosen Option : 3

e afg K+l=3 g k2+i PIAA RTL?
K ’ k? '
Ans X 1.5
X 29
X 3.6
L4T

Question ID : 264330105920
Status : Answered
Chosen Option : 1

Q.11 T 7 P! P HWIT 678p37q, 75 A fAUTTA ® 3R p T UT BN 8, dip iR qF
q 1d S|

Ans X 1.p=59g=5
¢ 2.p=3,9=5
X 3.p=2q=5
K 4p=34=0

Question ID : 26433074979
Status : Answered
Chosen Option : 2

Q.12 TP IR A TH gHM & 8:15 p.m. TR AR TRIT 3R 60 km/h P} IT6 TR II5F F YT 7T
1 8:30 p.m. TS AT &t T | TS YT IR BT 9:00 p.m. T ARWR HAT 18 &,
iR ST Y =gaw =1 fbamit gt =Tiee?

Ans X 1.60 km/h
« 2.90 km/h
/< 3.80 km/h
5 4.75 km/h

Question ID : 26433085766
Status : Answered
Chosen Option : 2




Q13 offem M s feawT # R & aRon gafe ¥

fzarera F oo

250
200 4 - T
150 + EEra
100 -

1901-92 109293 150304 1994.95 1995-06

o 7 o,z go Regfiet $ der sy st g Rt £ dom F A s st B2
Ans X 1.1994-95

52,1991 -92

o 3.1993 - 94

25 4.1992 - 93

Question ID : 26433081454
Status : Answered
Chosen Option : 3

Q.14 12 cm, 18 cm 3N 27 cm YSTI3HT AR TP TATY ) FAUETHR T U S141 STl g1 1Y &
gl ggia dawd &1, ¥ % Wqul gitT e & Srurd fbaer 872

Ans X 1.18:17
K 2.17:23
& 3.19:18
K 4.17:19

Question ID : 26433065026
Status : Answered
Chosen Option : 1

Q.15 &g Fafdya T, T il @ w 3 aul & Rig & ot 81 9l 9 5% e R AT
BT, T8 2600 3iftre ifSfa 1| 98 R 7 FIfvE|

Ans X 1. 28,000
X 2. 35,000
v 3. 24,000
X 4. 26,000

Question ID : 26433080188
Status : Answered
Chosen Option : 3




Q16 frar ara g2 i ww FUe gERT 2001-2002 & 2008-2009 7% H{HG @ (T &g ) gafar F)

1000
810
730 740
B 650 &% 660
600 520 400
400
200

o
E2001-02 m 2002-03 = 2003-04 = 2004-05
| 2005-05 B 2006-07 B 2007-08 W 2003-09
o A, e s A A e e i i SR e e g w R, @
e gl

2

Ans 7 1.4:3
K 23:5
X 3.5:3
K 4.3:4

Question ID : 26433080144

Status : Answered

Chosen Option : 1

Q.17 = ez wan g fr 8 Tl & Al FI wEm i gufa ¥ g At 8 T ago! ot
P HEAT 10,000 1 TH fAfRIy Tpa A dsw! #t I &1 57 |t 8 o as®! Pt o
T@I ¥ ufaxra & = & giiar war g1

2%
JFeR C, D YT F §RT TTY T $A F-51F BIVT BT TR A, G YT H §RT 1T T FA
Fa B0 Y SUTd T 82

Ans 7 1.20:43
K 2.44:21
X 3.19:44
K 4.17:39

Question ID : 264330105774

Status : Answered

Chosen Option : 1




Q.18

Ans

az+b2+czﬁﬂﬁﬂg,ﬁa+b+c=9 3R ab+ be +ca=23 82

X 1.22
X 2.32
X 3.49
& 4.35

Question ID : 26433065326
Status : Answered
Chosen Option : 4

Q.19 TfY o HIE YA BV §, tan ( 4a - 50°) = cot ( 50° - o), a1 « (FH F) =1 7 @ FIMEWI

Ans

X 1.90°
& 2.30°
X 3.45°
X 4.60°

Question ID : 26433075373
Status : Answered
Chosen Option : 2

Q.20 F5 0 I TH g1 @t 54T 6 cm 7 SR Tw Fivuis &1 Fkka v 40° 7| Prowgis &1

Ans

PELRRIDEIEI
X1 81 cm?
X2 61 cm?
X3 51 em?

v 4 A em?

Question ID : 26433075216
Status : Answered
Chosen Option : 4

Q.21 fAfEd Rs.700 | U HGARI = HT1 715 T F 916 AT 3R U A Rs.300 3R
Rs.400 &% 1Y SHP AIY TS &1 o1 &1 99 & 37 §, qGHT | Rs.627 BT ATH WIed g3HT

Ans

| A4 ¥ T P i 9ra P

X 1.Rs.127
2 2.Rs.156
 3.Rs.132
X 4.Rs.145

Question ID : 26433063777
Status : Not Answered
Chosen Option : --




Q.22 gl%zo TP HT1HT eI 18 [P & b R g, Aeyufoma
!

Ans o1 111e
S

X2 1129
9

o3 111e
9

x4 10105
=]

Question ID : 26433063465
Status : Answered
Chosen Option : 3

Q.23 TP HaT & NAd 3P FId B GHY, AP & 3P 89 P I W Teldt § 98 $ FU H o
g}nqﬁlsv%ﬁ%vw,a&n%sﬁmaiw,amfawaﬁﬂa%o.zsami)m&nﬁmﬁ
B Y= FT 82
Ans X 1.38
& 2.36
X 3.32

X 4.34

Question ID : 26433075181
Status : Not Answered
Chosen Option : --

Q.24

a‘l‘ax+i:2xx’§aﬁx>1 T oar x3—x—13$rﬂ1:r311?raﬁ1ﬁ|tr|

Ans 7 1.76
< 2.82
< 3.86
< 4.78

Question ID : 26433074500
Status : Not Answered
Chosen Option : --

Q.25 G g & N U GO B! ITe ©U | T I 3 | % O T4 U g9 @1 34117 cm 7 9K
F% A TS GO I BT 3T 7 cm 1 BC 37 31 g1 3T SIS Y@ g, weiB ok
C U 0 3R A Hgl a1 gal W fRya fig §1 BC 9t wiard fpaeit 82

At X1 2411 ™%m
« 2 24119 cm

X3 24/118 cm
X4 24113 cm

Question ID : 26433083071
Status : Not Answered
Chosen Option : --

Section : English Comprehension




Q.1 Select the most appropriate synonym of the given word.

Wavering
Ans o 1. Fluctuating
5 2. Unconvincing
/< 3. Drenching

5 4. Sickly

Question ID : 26433072198
Status : Not Answered
Chosen Option : --

Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.On my way to school, | met my uncle who had returned from England.

B.Then I invited him to my place.

C.He was very pleased to see me and asked about my parents.

D.On he asking me about my parents, | told him my father recalls him frequently.

Ans X 1.CABD
X 2. ABCD
X 3.BACD
4. ACDB

Question ID : 26433072380
Status : Answered
Chosen Option : 4

Q.3 Select the appropriate adverb for the underlined word in the sentence.

We considered in brief the long term solution to the problem.
Ans X 1. briefness
< 2. brief
25 3. briefless

«” 4. briefly

Question ID : 26433073888
Status : Answered
Chosen Option : 4

Q.4 Choose the correct meaning of the given idiom.
Down the tubes

Ans X 1. Minting money
/< 2. Being/informal
/< 3. Going to swim
«” 4. Failing completely

Question ID : 26433066055
Status : Answered
Chosen Option : 3




Q.5 Identify the most appropriate ANTONYM of the underlined word in the given sentence.
A balloon contracts when air is blown into it.

Ans X 1. Shrinks
” 2. Expands
2< 3. Controls
< 4. Repulses

Question ID : 26433060410
Status : Answered
Chosen Option : 2

Q.6 Select the INCORRECTLY spelt word in the following sentence.
In the coming millenium, some noticeable technological advancements will be
accomplished.

Ans X 1. noticeable
«” 2. millenium
25 3. advancements

/< 4. technological

Question ID : 26433060813
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate collocating word to fill in the blank.

There is traffic every morning.
Ans X 1.lengthy
& 2. long
< 3. big
«” 4. heavy

Question ID : 26433070449
Status : Answered
Chosen Option : 4

Q.8 Select the option that expresses the given sentence in passive voice.

One should keep one’s promise.
Ans & 1. Promises should be Kept.
< 2. Promises should be kept by one.
/< 3. One should-keep their promise.
< 4. One’s promise should be kept by one.

Question ID : 26433097540
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

APJ Abdul Kalam’s house, located on Mosque Street was within the reach of the
famous temple of Rameswaram. It was just from it.

Ans X 1. from pillar to post
«” 2. a stone’s throw away
& 3. at one’s fingertip
X 4. atarm’s length

Question ID : 26433070540
Status : Answered
Chosen Option : 4




Q.10 Select the correct direct form of the given sentence.
Rohan asked me if Rohit still cried

Ans & 1. Rohan said to me, “Does Rohit still cry?”
/< 2. Rohan says to me, “Does Rohit still cry?”
25 3. Rohan said to me, “Has Rohit still cried?”

#< 4. Rohan said to me, “Did Rohit still cry?”

Question ID : 264330104646
Status : Answered
Chosen Option : 1

Q.11 Rearrange the parts of the sentence in correct order.
The researchers
P. decision centers called the orbitofrontal
Q. analyzed the electrical activity recorded
R. cortex and dorsal anterior cingulate cortex
S. from neurons in two of the brain's

Ans X 1.RSPQ
X 2.PQSR
& 3.RPQS
« 4. QSPR

Question ID : 264330104691
Status : Answered
Chosen Option : 4

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The scooter that / | am using / these days is belonging / to my brother.
Ans X 1. The scooter that

/< 2. to my brother
o 3. these days is belonging
5 4.1amusing

Question ID : 26433088153
Status : Answered
Chosen Option : 1

Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

To keep postponing doing a task later because you’re lazy
Ans X 1. Multi-task

& 2. Procrastinate
2% 3. Diligent
< 4. Leave

Question ID : 26433071815
Status : Answered
Chosen Option : 2




Q.14 Select the most appropriate ANTONYM of the given word.
part

Ans X 1. Joint

& 2.Bit

«” 3. Whole

5 4. Fragment

Question ID : 26433063162
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
My uncle is a colonel who gets extremely angry over petty issues every now and then.

Ans X 1.heated
& 2. furious
25 3. violent
< 4. fierce

Question ID : 26433086465
Status : Answered
Chosen Option : 3

Q.16 In the given sentence, one word may have been incorrectly spelt. Select the correctly
spelt word from the given alternatives. If there is no error, select ‘No error’ as your

answer.

The staff members were attempting to manoeuvre the board of directors for the
abolition of pay disparity
Ans 7 1. No error
75 2. manoeuver

25 3. manouvre

75 4. manouever

Question ID : 26433070554
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate synonym of the given word.
Empty
Ans 7 1. Vacant
< 2. Filled
25 3. Packed
2< 4. Priceless

Question ID : 26433060887
Status : Answered
Chosen Option : 1




Q.18 Select the correct active form of the given sentence.

Ans

Her wooden almirah has been destroyed by the termites.
/< 1. The termites could destroy her wooden almirah.

” 2. The termites have destroyed her wooden almirah.
/< 3. The termites destroyed her wooden almirah.

25 4. The termites had destroyed her wooden almirah.

Question ID : 264330104594
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate collocation to substitute the underlined word in the given

sentence.

The MNC is about to be bankrupt, according to reliable sources.

Ans X 1. take bankrupt

«” 2. go bankrupt

25 3. give bankrupt

< 4. come bankrupt

Question ID : 26433074008
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate option that can substitute the underlined segment in the

Ans

given sentence. If there is no need to substitute it, select ‘No substitution’.

It was an horrible day at the office for Roy, but he didn’t allow it to spoil his evening
plans.

< 1. were a horrible day at office
#< 2. No substitution
/< 3. horrible day at the office

«” 4. was a horrible day at the office

Question ID : 26433073944
Status : Answered
Chosen Option : 4

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Deforestation, wildfires and pollution cause animals (1) lose their homes. Animals
may be (2) by their surroundings. Most individuals are (3) that they
are taking down an animal's home when they cut down trees for wood. Animal (4)

is also lost as a result of wildfires. The main causes of an animal becoming
(5) are poaching and smuggling. Pollution is extremely harmful to animals and
their environments. Animals are interested and try to eat the pollution-causing things.
Furthermore, some rivers and natural resources are becoming polluted, forcing animals to
relocate.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.
5 1. through

o 2.10
X 3.0f
X 4. from

Question ID : 26433084787
Status : Not Answered
Chosen Option : --




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Deforestation, wildfires and pollution cause animals (1) lose their homes. Animals
may be (2) by their surroundings. Most individuals are (3) that they
are taking down an animal's home when they cut down trees for wood. Animal (4)

is also lost as a result of wildfires. The main causes of an animal becoming
(5) are poaching and smuggling. Pollution is extremely harmful to animals and
their environments. Animals are interested and try to eat the pollution-causing things.
Furthermore, some rivers and natural resources are becoming polluted, forcing animals to
relocate.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. affected

X 2. obsoleted
5 3. intensified
X 4. effected

Question ID : 26433084788
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Deforestation, wildfires and pollution cause animals (1) lose their homes. Animals
may be (2) by their surroundings. Most individuals are (3) that they
are taking down an animal's home when they cut down trees for wood. Animal (4)

is also lost as a result of wildfires. The main causes of an animal becoming
(5) are poaching and smuggling. Pollution is extremely harmful to animals and
their environments. Animals are interested and try to eat the pollution-causing things.
Furthermore, some rivers and natural resources are becoming polluted, forcing animals to
relocate.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.bad

/< 2. apprehensive
o 3. unaware

< 4. conscious

Question ID : 26433084789
Status : Answered
Chosen Option : 3




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Deforestation, wildfires and pollution cause animals (1) lose their homes. Animals
may be (2) by their surroundings. Most individuals are (3) that they
are taking down an animal's home when they cut down trees for wood. Animal (4)

is also lost as a result of wildfires. The main causes of an animal becoming
(5) are poaching and smuggling. Pollution is extremely harmful to animals and
their environments. Animals are interested and try to eat the pollution-causing things.
Furthermore, some rivers and natural resources are becoming polluted, forcing animals to
relocate.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 7 1. habitat

5 2. husbandry
25 3. domain

X 4. environment

Question ID : 26433084790
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Deforestation, wildfires and pollution cause animals (1) lose their homes. Animals
may be (2) by their surroundings. Most individuals are (3) that they
are taking down an animal's home when they cut down trees for wood. Animal (4)

is also lost as a result of wildfires. The main causes of an animal becoming
(5) are poaching and smuggling. Pollution is extremely harmful to animals and
their environments. Animals are interested and try to eat the pollution-causing things.
Furthermore, some rivers and natural resources are becoming polluted, forcing animals to
relocate.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.wild

< 2. destructive
¢ 3. endangered
< 4. infused

Question ID : 26433084791
Status : Not Answered
Chosen Option : --
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